- N
»
o 3 DRI}
S T Ve .".
\\ A ."‘-h

A B S Pyt 2]



Dz

R

Hi

eos
SN
— K=



7

FA = A T 0 @ AR B X
iﬂ%lﬁff"ﬁ’] ( | [

& @ A= ( ) )ﬂ
J’Tﬂgﬂi: S= (




— HETE=8F1

14cm

*

Mo



12dm




= K —fAfA —th=AFsH, FEiHEHeE
EHBRECEM W HZE, RS KA

4 B, X e n] Fp 2 /D) H 259
40m

-
'13m




L Cy

-

P
ZN

— =

1)

ANES BB
KR 1. 2m. & & 8. 5dm,
e 1S M Bk & 22 /b T

)

=

—i.

/

30. 6 I »

"



H A —HEK 10m, % 1. 5m B K FIE 2044
1 RO 5% B AR i BR R 5dm B B Ff
=/ NE, /] LU Z 0w 2




g'ﬂ&ﬁi 12 74

N WE,FTEAEZERE 40m®, B a6

SHEBREZ /D2
k 7Vm J




0.88+8= 9:6=3:. 24—
4——h= 1.26=+—6=
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